
                            INSTALLATION INSTRUCTIONS 
 

Page 1 of 1 

(8 pcs) 

(8 pcs) (4 pcs) 

Fig 2 

(4 pcs) 

    

2007-2017 Wrangler  Accessories Tail Light Guard Wrap Around Design 
PART #JK-7135 

   PARTS LIST: 
 

 
 
 
PROCEDURE:  

1. REMOVE CONTENTS FROM BOX. VERIFY ALL PARTS ARE PRESENT. READ INSTRUCTIONS 
CAREFULLY.  

2. Remove the four screws holding the taillight lens to the housing, (Figure 1). NOTE:  Be careful as the two inner 
screws attach the complete taillight assembly to the vehicle. Pay attention to the size of the factory screws and 
their location. 

3. Line up the tabs on the Taillight Guard with the (4) screw holes. IMPORTANT: If required, make minor 
adjustments to the mounting tabs. NOTE: Cover the tabs with masking tape and gently bend into the proper 
position with pliers or an adjustable wrench. 

4. Once properly adjusted and aligned, insert the four rubber spacers into the recesses in the taillight lens for the 
factory screws, (Figures 2 & 3).  

5. IMPORTANT: The factory mounting holes and screws are two different sizes. Pay close attention to the size of 
the factory screws and their location. Use the correct size replacement screw to avoid damage to the tail light 
housing. 

6. Install (2) of the smaller OD #4 X 45mm Sheet Metal Screws and #5 Flat Washers in the (2) inner positions. Use 
(2) of the larger #5 X 50mm Sheet Metal Screws and #5 Flat Washers in the (2) outer mounting holes. Insert each 
screw with Flat Washer through the mounting tab, the Rubber Spacer and into the tail light housing, (Figures 2, 3 
& 4). Do not tighten at this time. 

7. Align the Taillight Guard with the top of the lens and tighten the screws using the proper sized Phillips 
screwdriver. IMPORTANT: Avoid over tightening to prevent damage to the plastic taillight assembly or lens. 

8. Repeat Steps 2 - 7 for other side of the vehicle and check that the two guards are parallel to each other. 
To protect your investment, wax this product after installing. Regular waxing is recommended to add a protective layer 
over the finish. Do not use any type of polish or wax that may contain abrasives that could damage the finish.   
For stainless steel: Aluminum polish may be used to polish small scratches and scuffs on the finish. Mild soap may be 
used also to clean the Taillight Guard. 
For gloss black finishes: Mild soap may be used to clean the Taillight Guard. 

 
 

                                                                                               

 

 

 

 

 

 

                    

 

 

 

 

 
 

2 Tail Light Guards 4 #4 x 45mm Sheet Metal Screws 

8 Rubber Spacers 8 #5 Flat Washers 

4 #5 x 50mm Sheet Metal Screws   

Remove 
these 

Screws 

Fig 1 (Driver Side Pictured) 
 

Fig 3 

(Fig 4) Driver side pictured 
 

(2) #4 x 45mm Screws 
(2) #5 Flat Washers  
(Inner location) 

(2) #5 x 50mm Screws 
(2) #5 Flat Washers  
(Outer location) 

Place Rubber Spacers between 
lens & Taillight Guard 

#4 x 45mm Screws 
 

#5 x 50mm Screws 
 


